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1. (a) State one function of (g& plasma membrane. (1 Mark)

.......................... P

Q}
.................... Q’OQ
(b) Give t%%%lgctions of golgi apparatus. (2 Marks)
<
........ ,.'OQ&.'..'.“.'.".'.”'”".'..'.““”'.'.”'”".'..'.“.”".'.”‘”“”..'.“.'.".'.”“”'.'..'.”.”'
N
N s
2 (g"e g:%\'? le of a sex-linked trait in human in
. .Gty exam - :
g examp
(@)Y — Chromosome (1 Mark)
<

<<kQ.l\\ ..........................................................................................................................

@ K (ii) X — Chromosome (1 Mark)

A\
QO* S ........................................... RS
\ . e diagram below represents a foodweb in a forest.
S 3. Thed bel ts a foodweb forest
Eagles
A
Small birds Woodﬂpeckers
Caterpillars Spiders Squirrels
/ Aphids
Beeues/
Trees

a. Construct a food chain ending with a tertiary consumer. (1 Mark)

b. Name the highest trophic level occupied by the eagles. (1 Mark)

c.  What would happen if caterpillars are eliminated using an insecticide. (2Marks)
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4. A bone obtained from a rg@gmmal is represented by the diagram below.
— 6
\&T
& LT I
~ S
be'é\oé\ \\\\ - e Y
a) Nameoﬁa%béﬁe. (1 Mark)
N
N s
RN
b) Q?@I&%h bones articulates with the bone shown in the diagram at the notch. (2Marks)
R
QIQJ\@ .........................................................................................................................
<A
@ « Q" 5. What is the role of the following in the human body:-
X
\ %i < a) Vitamin K. (1Mark)
S
$H

a) Name the structure. (1 Mark)
b) Name the part labelled T. (1 Mark)
c) State how the above structure is adapted to its function (2Marks)
7. State two adaptations of alveoli to gaseous exchange. (2Marks)

Ti ps on passing KCSE subscribe freely @http://ww.joshuaarim.com
Connect with Joshua Arim on facebook.



g

8. Below is an animal cell u{s@rgoing cell division.

QQ}% r A m
Q’b’
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\f;%.\Name the type of cell division.

<

N
VAl
2 «Q" b) Where was the cell derived from?
S
QO* é\\' ......... T
&{H c) Identify the stage of cell division shown by this cell.
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9. A person was found to pass out large volume of dilute urine frequently. Name the:-

a) Disease the person was suffering from.

10. Give a reason why each of the following steps is followed when preparing a Cross-section of a leaf

for examination under a microscope.

a) Cutting very thin sections.
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b) Name the antibodies i{g@ood group O. (1 Mark)
......................... Q}6

13. a) Define organiQ’é%olution. (1 Mark)

X
............... R ettt s
@

........ \OQ

b) gi\cf’cgﬁfo examples of vestigial structures. (2 Marks)
QO e

@Q{ S’

R

Q*jS\ . The central canal of the spinal cord is filled with. (1 Mark)
%&e\\Q‘ ..........................................................................................................................

\ ‘\\Q 15. a) Besides the abdomen name the other part of members of arachnida. (1 Mark)

S

T\
b) i) State two economic importance of members of kingdom fungi. (2 Marks)

16. The oxidation of a certain food substance is expressed by a chemical equation shown below.
2C51H9806 + 14502 e 102C02 + 9H20 + 38.4KJ.
(a) Calculate the respiratory quotient. (2 Marks)

17. In an experiment it was observed that when maggots are exposed to light, they move to dark

areas. On the other hand, Euglena and chlamydomonas move towards light.

a) Name the type of response exhibited by the organisms. (1 Mark)
b) State one advantage of the response shown by Euglena and Chlamydomonas. (1 Mark)
18. Explain the importance of Osmoregulation in organisms. (2 Marks)
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19. What is the causative age{gﬁgbf the following:-
a) Tuberculosis Q}@ (1 Mark)
.................... Q’OQ
b) BilharziaQ,b%\o((\ (1 Mark)

.......... e
O
20. Wh'kc.l?\egz\yme is responsible for breaking down sodium hydrogen carbonate in mammalian — blood

RN
Cézgg%h%se Carbon (iv) Oxide? (1 Mark)
N OSSP PPRRR
<<iji\ . List down three different types of muscles found in the mammalian body. (3 Marks)
@ R
oS
NS\
P S T T T T T T T T T T TP TP TR PR TP PP PPPPIEPPRRRPORS
[OIPAN
QA\GJ ..........................................................................................................................

22. In nature plants are cross-pollinated rather than being self-pollinated.

a) List three features that hinder self-pollination in most plants. (3 Marks)
b) State one advantage of cross-pollination in plants. (1 Mark)
23. Explain how xylem vessels are adapted to their function. (2 Marks)
24. State two ways of breaking seed dormancy. (2 Marks)
25. a) Distinguish between epigeal and hypogeal germination (2 Marks)
b) State the function of coleoptile in the maize seedling. (1 Mark)
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26. Give the functions of the (ggﬂowing parts of human eye

a) Lens QJ\@ (1 Mark)
.................... Q'bQ

b) Ciliary g%éyo@ (1 Mark)

<
........ ,"OQ'
N
) (otpsa (1 Mark)
E
Q/oéo ...................................................................................................................
“What is the role of the following hormones in the mammalian reproductive System?

((&jS\ a) Testosterone. (1 Mark)
@Ke\\Q‘ ..........................................................................................................................

\ \'(\ b) Progesterone. (1 Mark)

O >

Qg\c) ..........................................................................................................................

¢) Luteinising hormone. (1 Mark)

28. The diagram below shows the general appearances of lactic acid in the blood of an athletee after an

exercise.
60 — O
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0 2 4 6 8
Time in Minutes
a) What is the significance of the line marked O? (1 Mark)

b) Explain what was happening in the body between points:
(i) R and S. (1 Mark)
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¢) What is oxygen debt? (&(\6 (1 Mark)
9
------------------------- é&"."‘.‘..".".“..‘..“.‘“.‘.."."-“..‘..“.‘“.‘.."."-"..‘..".“‘.‘..“.“.“..‘..‘
.................... Q’OQ
29. Figure 1 an%o}? show two set of apparatus used by a group of students to investigate some
phys1olo@cg\l process The apparatus were put in bright light for sometime some air bubbles were
evok\(&‘i@n figure 1 while no change was observed in figure 2.
S N
C%lg‘ure 1 Fi /-\
§ igure 2
<
<
el
N\
LN
S
L Air bubbles .
e —— Air bubbles
: 14\
77777777777777777777 o) 4] Oillayer
Tap water // \\ 7\
/\ [\ |
/ \ |___Water plants\ / \ Boiled water
a) Name the gas responsible for air bubbles in figure 1 (1 Mark)
b) 1) Account for the formation of bubbles in figure 1 and not in figure 2 (2 Marks)
(i1) Which one of the set up’s was the control experiment? (1 Mark)
30. The study of insects is known as (1 Mark)
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